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(i) ¥oT-TF § GHY W FF [95cT 757 8 | T 0H-UF 3HF it @ T 7, @-al Bl
17 g Jol B, diT-dT 3] qret @7 el 5, IR-GR APl a1 did e SR
a7 fow 78 & | 0F F1 7 SheleT Uk & fadwed T I 107150 |/
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1. kaﬂagnﬂﬁa%@mwwﬁmx+2y:3, bx+ky+7=03EMg, 8 :

N\
@ -5 O

ON: © 5 @ 10
2. WEIRAI—-3x—m(m+3)HIYIHG:

() m,m+ 3 (b) —-m, m+ 3 (¢ m—-(m+3) (d —m,—(m+3)

3. Ifders fawrem yuRept & STHER g1 9T quiieh a 3R b o foru WEht srfgeta qoi wemd
qﬁ(rﬁ@'ﬂlﬂ%%a=bq+r%ﬁw
(a) 0<r<b (b) 0<r<b
(c) 0<r<b (d 0<r<b

4. HEAT 196 % IFUSI-TUHEUE | IS U] hi HTd1 b1 AT &

(a3 (b) 4 ) 5 @ 2
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Read the following instructions very carefully and strictly follow them :

(i) This question paper comprises four sections — A, B, C and D.

This question paper carries 40 questions. All questions are compulsory.

(it)  Section A — Question no. 1 to 20 comprises of 20 questions of one mark
each.

(iti) Section B — Question no. 21 to 26 comprises of 6 questions of two
marks each.

(iv)  Section C — Question no. 27 to 34 comprises of 8 questions of three
marks each.

(v) Section D — Question no. 35 to 40 comprises of 6 questions of four
marks each.

(vi)  There is no overall choice in the question paper. However, an internal
choice has been provided in 2 questions of one mark, 2 questions of two
marks, 3 questions of three marks and 3 questions of four marks. You
have to attempt only one of the choices in such questions.

(vii) In addition to this, separate instructions ‘are given with each section
and question, wherever necessary.

(viit) Use of calculators is not permitted.

General Instructions :

® Section — A

Question numbers 1 ‘E&\?O are-multiple choice questions of 1 mark each.
Select the correct 0@1 n.

NG
1. The value of %r which ‘the system of linear equations x + 2y = 3,
5x+ ky + 7 @3 1s inconsistent is

2
(@ % o 5 © 5 @ 10

2.  The zeroesof the polynomial x> — 3x — m (m + 3) are
(8 m,m+3 (b) -m, m + 3 () m,~(m+3) (d) -m,~(m+3)

3. Euclid’s division Lemma states that for two positive integers a and b,
there exists unique integer q and r satisfying a =bq + r, and

(a) 0<r<b (b) 0<r<b
() 0<r<b (d 0<r<b
4. The sum of exponents of prime factors in the prime-factorisation of 196 is
(a) 3 (b) 4 () 5 (d) 2
.30/2/2. | 3 P.T.O.
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5. 4k fog P (6, 2), fagati A6, 5) a1 B(4, y) ! e aTel {@EvE i 3 : 1 % 319
HEedTy, @y FIAAR :

(a) 4 (b) 3 (c) 2 (d) 1
6. Wﬁg%ﬁ%&‘lﬁ?ﬁﬁg (=3, 5) T x — 3187 T Y& (reflection) &, & :
7. x-31 T ey foig P S feigafi A(-1, 0) @2 B(5, 0) & HgE 7, 3 -

(a) (2,0) (b) (0, 2) () (3,0) (d) 2, 2)
8. Hﬂfﬁl’%ﬁa, 3a, ba, ...... 1 ndl IS 8

(a) na (b) @n—-1)a (c) @n+1)a (d). 2 na
0. LI i

(@) 1 ® © -1 @ 3
10. foam@ el a2 - 0.04=0% A & :

(a) £0.2 (b) +0.02 (). 0.4 d) 2

¥ T 11 — 15 7 B e T wie R gcdeh =1 1 37 2 |
11. 3epfd 1 H 9% A ! fagati O, 7°1 O, §EEH T & FATH 10 A &

O 0, 0,
> o
)
W
@Q
N
A B o
-1

12. B 2HMN | BCRAMAM: MB=1:2%,d

ar(A AMN)
arAABC) ———
A
M N
B C
-2
.30/2/2. | 4
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5. If the point P (6, 2) divides the line segment joining A(6, 5) and B(4, y) in the
ratio 3 : 1, then the value of y is
(a) 4 (b) 3 (c) 2 (d) 1
6. The co-ordinates of the point which is reflection of point (-3, 5) in x-axis
are
7. The point P on x-axis equidistant from the points A(-1, 0) and B(5, 0) is
(a) (2,0) (b) (0, 2) () (3,0) (d) (2,2
8. The n'" term of the A.P. a, 3a, 5a, ...... is
(a) na (b) C2n—-1)a (c) @n+1)a (d) 2na
: 11-p1-—2p .
9. The common difference of the A.P. 5, D’ p 1s
@ 1 ) © -1 @ -3
a p - p
10. The roots of the quadratic equation x> — 0.04 = 0 are
(a) £0.2 (b) +0.02 (© 0.4 (d) 2
In Q. Nos. 11 to 15, fill in the blanks. Each question is of 1 mark :
11. In fig. 1, the angles of depressions from the observing positions O, and O,
respectively of the obj c\&are ,
&g\ 02 Ol
Q\Q% 60°
@S
A B o
Fig.-1
12. Infig. 2, MN | BCand AM : MB=1:2, then
ar(A AMN)
ar(A ABC)
A
M N
B C
Fig.-2
.30/2/2. | 5 P.T.O.
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13.

14.

15.

16.

17.

18.

19.

20.

i

dm a3, deoEPB=____ it

k

B
THA-3

T AABC § AB = /38, AC = 12 &t @1 BC = 6 ¥t € | .«B 1 # 2

A

AYA

g1 Fgst TmEy Bt €, Afe 3t wra semd

sin 23° cos 67° + cos 23° sin 67° ST UM &

g1

I HEAT 16 — 20 T Y I TR o I 7, R0 T 9 1 IF H17 |
3TRI 4 T Brsam 10.5 9.1, a0 g9 1 T Heuave fean 2 | 39 Brewave &1 aimm

T 1T | (n=%?'ﬂﬁm

Ife F@msti =8, =2, -1, 0, 1, 2, 3 H ¥ T §&A1 x Agoadl I T3 a1 a2 < 4 hi
BIRERIRICEN S I
Jeran

Tepeft amg=ma o7 U g 9 § 52 ferar g Y wnfekdr @ R 2

Teh UTHT Tsh SR ISTCAT 7T | Teh AT TAT o 3T 1 TRhdT 1 8 ?
afg tan A = cot B2, 1 (A + B) 1AM 31d HIfT |

it 15 — 35 3 45 — 60 & = forms 31 HIfTT |

.30/2/2. | 6
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13. In given Fig. 3, the length PB = cm.

A

\ ¥

B
Fig.-3

14. InAABC, AB= 6\/5 cm, AC=12 cm and BC =6 cm, then /B =
OR
Two triangles are similar if their corresponding sides are
15. The value of sin 23° cos 67° + cos 23° sin 67° is

Q Nos. 16 to 20 are short answer type questions of 1 mark each.

16. In fig. 4 is a sector of circle of radius 10.5-¢m. Find the perimeter of the

sector. (Take T = %}
&
N
%Q, A B
\Q‘Z}
& Y
% @)

17. If a numberx 1s chosen at random from the numbers -3, -2, -1, 0, 1, 2, 3,
then find the probability of x* < 4.
OR

What is the probability that a randomly taken leap year has 52 Sundays ?
18. A dieis thrown once. What is the probability of getting a prime number.

19. If tan A = cot B, then find the value of (A + B).

20. Find the class marks of the classes 15 — 35 and 45 — 60.

i

.30/2/2. | 7 P.T.O.
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TUE-T
9 HEAT 21 — 26 Teh TAH T 2 HF E |
21. T AL A 39 10 forenfi=i # &y 1 T SIS W Teh =X FTeAl Teh 95U¢ for@emt

2¢+ 3, 32+ Tx+ 2, 4 +3x2+ 2, x> +3x+ 7, 7x+\/’_7, 5x3 — Tx + 2,

2x2+8—%, 5x—%, ax> +bx?+cx +d, x+£.
o= o o S s

() S g | fohad SgIC T & ?

(i) S e ¥ feran fgamd sgue & 2

292. T SR e 1 gt T HIT :

T R AER [0—4 |48 [8-12 (12— 16 |16=2020 — 24 |24 — 28
(& 1)
TRERAT 5 7 9 17 12 10 6

23. a@%5ﬁ@am30®aﬁaﬁgﬁwcwmc% | 9f¢ AD <1 BC %1 O
T e 2, ?ﬁz:mfgqﬁsg\\

ar (AABC) AO (§'
ar(A DBC) ~ Dg@

A

N
C
B'D
S5
JAYAT
3TThMd 6 1 Af¢ AD | BC 2 a1 fog e 6 AB? + CD? = BD? + AC2.

=)
=
@

30/2/2 i 8
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Section - B
Q. Nos. 21 to 26 carry 2 marks each.

21. A teacher asked 10 of his students to write a polynomial in one variable
on a paper and then to handover the paper. The following were the
answers given by the students :

20+ 3, 3x2+ Tx+2, 463 +3x2+ 2, ¥ +/3x+ 7, Tx +\ﬁ, 5x3 — Tx + 2,
5 1 1

2x% + 3—" 5x—73, ax’ +bx? +cx +d, x+

Answer the following questions :

(1) How many of the above ten, are not polynomials ?

(11) How many of the above ten, are quadratic polynomials ?

22. Compute the mode for the following frequency distribution :
Size of items (0—-4|4-8|8-12|12—-16|16—-20|20—-24|24—-28

(in cm)
Frequency 5 7 9 17 12 10 6
23. In fig. 5, ABC and are two triangles on the same base BC. If AD

intersects BC at O w that

ar (AABC)  AQSY
ar(A DBC) _

S A

Fig.-5
OR
In fig. 6, if AD 1 BC, then prove that AB> + CD? = BD? + AC?.

.30/2/2. | 9 P.T.O.
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t2
24. ﬁ:@aﬁﬁm 1+M=coseca

25.

26.

217.

28.

29.

30.

1 + cosec o
YA

e9Iisu foh tan?0 + tan20 = sec0 — sec?0

Teh o= o U9 U1 9191 & TS18eh ©: Seten] 9T f1 378r 31ferd 3
lAllAl[B][c|[c][C]
3G YT oh! Ush S 3BT 7T | 35eh! &1 TTRehaT 8 o6 (1) A T &1 (i) C I & ?

Teh 3, Teh 378 Mol W ARG T THH YR B & 95 o AR &1 3 | Al
STLTIATRR | qUT TR WFT < 5k JEI &hel 9HH &, 1 sl a1 YedTehi HE
=l SEITS T T A HITT |

QU - T
9 AT 27 9 34 T TAH YT h 3 37 & |

3Thf 7 At A ABC ~ A DEF & 921 Iehl i1l <6l wrasat (Feft #) 3 w 3ifha &,
e Fovgt <) g 0 o A i |

Q\QB x+2 C B 3x+9 F

HTHfA-7
afe s g1 U P ABC <1 ST BC %1 P 0 T ST & a2 o) g2ft yyonaii AB @
AC 1 SHH3T: Q AT R 9 W31 LT &, i g hifore T

1
AQ=% (BC+CA+AB)

T JATRR WA o HEH 1 A6 22176 TH2 7 | 36 A o =R 3R §1S T & =
% 50 ¥t et & wra @ 1 hIfrT |

gfe 2x +y =23 dU 4x—y = 19 8, af (5y — 2x) qA (l-zj%mmﬁm|

X

HAYS

1 1 11
x o foTu &1 Hifsre et A x—_7"30 x#—4,7

.30/2/2. | 10
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24.

25.

26.

217.

28.

29.

30.

Elglil

>

E LH- 1
cot? o

1 + cosec o

OR
Show that tan*0 + tan20 = sec*0 — sec?0

Prove that 1 + = cosec o

A child has a die whose six faces show the letters as shown below :
LA]lAl[B][c][c][c]
The die 1s thrown once. What is the probability of getting (1) A, i1)) C ?

A solid is in the shape of a cone mounted on a hemisphere of same base
radius. If the curved surface areas of the hemispherical part and the
conical part are equal, then find the ratio of the radius and the height of
the conical part.

Section - C
Q Nos. 27 to 34 carry 3 marks each.

In Fig. 7, if A ABC ~ A DEF and their sides of lengths (in cm) are marked
along them, then find the lengths of sides of each triangle.
D

OB Z=x+2 C L 3x+9 F
@Q\ Fig.-7

If a circle touches the side BC of a triangle ABC at P and extended sides AB
and AC at Q and R, respectively, prove that

AQzé (BC.+CA + AB)

The area of a circular play ground is 22176 cm?. Find the cost of fencing
this ground at the rate of ¥ 50 per metre.

If 2x + y = 23 and 4x—y = 19, find the value of (5y — 2x) and (l —2}.
X

OR
1 1 11
x+4 x+7 30’

Solve for x : x#—4,17.

.30/2/2. | 11 P.T.O.
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31.

32.

33.

34.

35.

afg fagatt A3, 4) @1 B(k, 6) I ™ a1t Y@r@e &1 #ed foig P (v, y) & @
x+y—10=078,d k A A1 HIT |

HAY

s ABC, T8 A (1, —4) @91 A § ST ATt YonaAi  7ey fog (2, —1) @1 (0, —1)
2, o1 S5Thel T T |

Ife Tsh THTAE & & TUT m TSI 1 AT n & 9T 3Hh IUH n 91 b1 I m g, d &g
HIfSTT foh 3596 99 (m + n) TG HTIM— (m + 1) 2 |

AU
Teh GHTR 1 o G} 11 &1 o1 T T4 shifoe, et qsr 92 302 |

Teh a1 Tetd aTeft Tnmet 600 fop. 1. 61 amn 4 ueh it ge arefl et 9 3 ' w0
Tug ol B | Ffe it gor arelt TorTEt i =T, 9 "o arett IonTet 6 = 9 10
fop. 1. /eieT 6 B, 1 Tk T Bl =Ted ;T <hifTa |

aﬁ1+sin29:3sinesc\\@%,aﬁ%@aﬁﬁq%tanez131%11%.
%‘2§ TUE -9
. O .
Ww35ﬁ§@smw%4m%|
$
=1 SRS e 1 H1ET 18 8 | I STaUat 19 — 21 <t SRadT £ 7w ® | £ 71 Shiforg |
ot aterer (|1 =13[13-15[15-17(17-19|19-21|21 —23|23 - 25

TRERAT 3 6 9 13 f 5 4

areran
foret aforent weh Tifa 3 100 T o T ST Ui g IedTe ST B -
ITe 40 — 45|45 —-50|50 — 55|55 — 60|60 — 65|65 — 70
It <ht T 4 6 16 20 30 24
39 e I “W IRIH TR " 627 & T H Teerehl IHhT TR0 FiT |

.30/2/2. | 12
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31. If the mid-point of the line segment joining the points A(3, 4) and

Bk, 6)i1s P (x, y) and x + y — 10 = 0, find the value of k.

OR
Find the area of triangle ABC with A (1, —4) and the mid-points of sides
through A being (2, —1) and (0, —-1).

32. Ifin an A.P., the sum of first m terms is n and the sum of its first n terms is
m, then prove that the sum of its first (m + n) terms is —(m + n).

OR
Find the sum of all 11 terms of an A.P. whose middle term is 30.

33. A fast train takes 3 hours less than a slow train for a journey of 600 km. If
the speed of the slow train is 10 km/h less than that of the fast train, find
the speed of each train.

34. If 1+ sin?>0 =3 sin 0 cos 0, prove that tan 6.='1 or 9

Q® Section - D
R
Q. Nos. 35 to 40 ca@ﬁl marks each.
NI

35. The mean c@e following frequency distribution is 18. The frequency f in

the class intetrval 19 — 21 1s missing. Determine f.
Class interval |11-13|13-15({15-17(17—-19(19-21|21-23|23-25
Frequency 3 6 9 13 f 5 4
OR
The following table gives production yield per hectare of wheat of 100
farms of a village :
Production yield [40-45{45-50|50—-55|55-60{60—-65|65-70
No. of farms 4 6 16 20 30 24
Change the distribution to a ‘more than’ type distribution and draw its
ogive.
.30/2/2. | 13 P.T.O.
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36. 3TThfd 8 H YWIfehd & I &ABA T HITC AT PQ = 24 Tft, PR = 7 &t 91 O 91
HHGT |

T Y% o 51  o5F 8 1 &G Aq hIT S8eh geia Tl = = 20 wi.qe
6 7. g 7T ITh! HaTg 24 1. B |

37. g R TF[5 T i g g |

38. <l YT3Yl o TN ¥ Ueh q{UI—dTd (swimming pool) i 12 T | W ST Fehal 8 | Al 518
T 911 U159 <hl 4 8¢ TINT Rl 9T BIS AH dTed I159 bl 9 TS TN hi ol dTed 3T
YT ST Hehll 8 |9@$tﬂ‘§w\® T 3 FoTT 37T - 37er fohd Tme o 2

39. 4%%%@@%aﬁmmm@ﬁwwaowwwm
@ SterEt
T S ABC 1 w1 hifere faeht qomd 3 aeft, 4 |t qem 5 9t g | 319 U 31

Foger 61 T AT Rt S A ABC 1 T S 5 T

40. T HHR < UTq feig ¥ T Ward o RIREt o1 3= 101 30° 2 37 Weid & uTg foig @ HiM
o ARG 1 313 10 60° B | AT HAR 50 #. F5=ht &1 q1 wed hl g 71 HIT |
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36. Find the area of the shaded region in fig. 8, if PQ = 24 cm, PR = 7 cm and

37.

38.

39.

40.

O 1is the centre of the circle.

OR

Find the curved surface area of the frustum of a cone; the diameters of
whose circular ends are 20 m and 6 m and its height 1524 m.

Prove that \/3 1s an irrational number.

It can take 12 hours to fill a swimming pool using two pipes. If the pipe of
larger diameter is used for four hours.and the pipe of smaller diameter for
9 hours, only half of the peol can be filled. How long would it take for each
pipe to fill the pool sep&&ly

%

Draw two tang ré@'to a circle of radius 4 cm, which are inclined to each

other at an a@ of 60°.
$
OR
Construct a triangle ABC with sides 3 cm, 4 cm and 5 cm. Now, construct

another triangle whose sides are 5 times the corresponding sides of

A ABC.

The angle of elevation of the top of a building from the foot of a tower is
30° and the angle of elevation of the top of a tower from the foot of the
building is 60°. If the tower is 50 m high, then find the height of the
building.

30/2/2 § 15
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